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INSTRUCTION: DO ALL QUESTIONS ON THE SPACE PROVIDED
1.Give a reason why plant cells have a definite shape. (1 mark)
………………………………………………………………………………………………………………………………………………………………………………………………………………
2. State three structural adaptations of the gills of a bony fish to gaseous exchange.3 marks
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
3. .(a) Name the cell division and the stage of meiosis where crossing-over  takes place.	
		(i).	Division	       (1 mark)
………………………………………………………………………………………………………
                    (ii).	Stage	                   (1 mark
………………………………………………………………………………………………………
(b).	State the importance of crossing over mentioned in 3(a).      (1 mark)    
…………………………………………………………………………………………………………….. ………………………………………………………………………………………………
4. State the reason for the following adaptations of the intestine to its function.
(i) Long and coiled structure.   (1mark)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………… 
(ii). Presence of lacteal.    (1 mark)
………………………………………………………………………………………………………………………………………………………………….
(iii) Presence of mucus secreting cells. (1 mark)
………………………………………………………………………………………………………………………………………………………………………………………………………………
5. State the functions of the following structures in the phloem tissues. (2 marks)
(a).	Sieve plates
………………………………………………………………………………………………………………………………………………………………………………………………………………
 (b).	Companion cells
………………………………………………………………………………………………………………………………………………………………………………………………………………
6. State two adaptations of the red blood cells to their functions. (2 marks)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
7. State the structural difference between a somatic cell and a gamete.   (1 mark)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
8 . Give three roles of water during germination of seeds. (3 marks )
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

9.State two physiological changes that occur in the human body when the internal temperature rises above normal. (2 marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………................................................
10. a).Name the enzyme in the human body responsible for blood clotting.(1 mark)
………………………………………………………………………………………………………………………………………………………………………………………………………………
(b). State two effects of excessive bleeding.				(2 marks)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
11.State the functions of the following parts of the light microscope.	(2 marks)
(i).	Objective lens.
…………………………………………………………………………………………
 (ii).	Diaphragm
……………………………………………………………………………………………
12.	Give three ways by which flowering plants encourage cross-pollination. (3 marks)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………



13. What two adaptations of chloroplasts that make them site of photosynthesis.  ( 2 marks).
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….
14  .State two ways in which the root system of xerophytes assists them to survive in dry areas. (2 marks)
……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
15. Give three precautionary measures that can be taken to control the outbreak of cholera. (3 marks
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
16.State the distinguishing characteristic / features of the class Insecta. (3 marks).
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
17. The diagram below shows the system of gaseous exchange in a certain animal.
[image: ]
(a).Identify the structure.(1mk)
……………………………………………………………………………………………………
(b).State the functions of the labelled parts.(3mks)
A……………………………………………………………………………………………………
B……………………………………………………………………………………………………
C……………………………………………………………………………………………………
18. What advantages are there in man for breathing through the nose than through the mouth.	(2 marks)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
19.	Name the cell organelles responsible for the following functions.(3mks)
(i).	Packaging of synthesized materials.
………………………………………………………………………………………………………
 (ii).	Provides sites for formation of protein
………………………………………………………………………………………………………
 (iii).Destruction of foreign particles that enter the cell.	
………………………………………………………………………………………………………
20.	Below is a chemical equation representing the oxidation of a food substance in a cell.
  2C50H68O6 + 126O2                              100CO2 + 68H2O + Energy
 (i).	From the above equation, calculate the respiratory quotient (RQ).(2marks)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
(ii).Name the food substance being oxidized from the RQ calculated above.	(1 mark)
………………………………………………………………………………………………………
b)State two uses of the food substrate in a(ii) above the body.        (2 marks)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
21. Below is a photograph showing a  seedling during germination.
[image: ]
With a reason, name the type of germination shown in the photograph.
(i) Type of germination	………………………………………………(1mk)
(ii)Reason……………………………………………………………………………………(1mk)
22. The graph below represents the growth of animals in a certain phylum. Study it and answer the questions that follow.
[image: C:\Users\ADMIN\Desktop\ClearScanner\1551605354213_744780\result.jpg]





a) Name the type of growth pattern shown on the graph ……….…………………………………………………….(1mk)
b) Identify the process represented by letter B………………………………………… (1mk)
c) Name the hormone responsible for the process in(b)above………………………….(1mk)
23. Below is an image of a biological vector. Use it to answer questions that follow.
[image: https://media5.picsearch.com/is?lHN__Dxk1E2K7bX_jMookjw32DwxEm-L7ah0DEwzyPc&height=271]
(a) Identify the parasite transmitted into human blood by the organism.                  (1 mark)
………………………………………………………………………………………………………
(b) Name the blood cells that are destroyed by the parasite in (a) above. (1mark)……………………………………………………………………………………………
(c) State one biological method used to eradicate the larvae of this organism.                           (1mark)
………………………………………………………………………………………………………
24. Diagram below shows front view of male human urino-genital system. Study it to answer the questions that follow.
[image: ]
	a)	Name the parts labeled J, A, B and F.			(4 marks)
J……………………………… 
A…………………………………………………
B………………………………..
F…………………………………………………
	
b)	State the function of parts labeled H and E.			(2 marks)
H……………………………………………………………………………………………………………………………………………………………………………G……………………………………………………………………………………………………………………………………………………………………………
.
25. An experiment was carried out to find out the concentration of ions in the cell sap of an aquatic plant and that of the pond water in which they were found.
	
	Concentration in

	Ions
	Cell sap
	Pond water

	Na+
	50
	1.2

	K+
	49
	0.5

	Mg2+
	11
	3.0

	Ca2+
	13
	1.3

	Cl-
	101
	1.3

	SO42-
	13
	0.67


(a)(i) Name the process by which the aquatic plant absorbs ions from pond water.	            1 mark
…………………………………………………………………………………………………….
(ii) State the four roles of the process you have named in (a)(i) above in a mammalian body. 
4 marks
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
26.(a)State the meaning of apical dominance in plants					(1mk)
	................................................................................................................................................
 (b)	Briefly describe the effects of the following plant growth hormones
	(i)	Gibberellins									(2mks)
........................................................................................................................................................
........................................................................................................................................................
........................................................................................................................................................
27. The diagram below shows chemical reaction I and II which are controlled by enzyme A and BGlucose + fructose
Sucrose + water
Reaction I 
Reaction II presence
Of enzyme B










Name the reaction I and enzyme B   (2mrks)								        
	Reaction I…………………………………………………………………………………..…………………
	Enzyme B……………………………………………………………………………………………………
28. 	Explain why menstrual periods stop immediately after conception? (2mks)	
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
29. 	Below are diagrams of three leaves A, B and C. Construct a two steps dichotomous 
key which can be used to identify each of them.				(2mks)	[image: ]
......................................................................................................................................................
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